LAMPIRAN 15

Tingkat Kesulitan Dan Daya Pembeda
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No | Kelompok Pola Jawaban Tingkat Daya
BIC|D| E kesulitan pembeda

1 1A - 1811 2 8+6 8—6
B 2 | 6| - - 20 20
=0,7 =0.1

2 |A - -1 8 - 8+4 8 —4
B 3 - 4 1 20 20
=0,6 =0,2

3 |A 4 | - | - | - 7+6 7—6
B 1] -1 2 20 20

=0.65 = 0,05

4 |A 2 |21 - 9+5 9-5
B 1] -] - - 20 20

=0,7 =0,25

5 |A - 11027 7+6 7+6
B - -] 1] 6 20 20

= 0,65 = 0,05

6 |A 112171 747 7-7
B -7 - 20 20
=0,7 =0

7 |A 8 1|2 | 2 8+3 8—3
B 3|1 - 20 20

= 0,55 =0,25

8 |A -1 8|1 - 8+6 8—6
B 2 6 - 1 20 20
=0,7 =0,1

9 [A 8 | - | 1| - 8+4 8—4
B 4 3 1 - 20 20
=0,6 =0,2

10 | A 3 (3|7 - 7+ 3 7-3
B - -1 3] 1 20 20
=0,5 =0,2

11 | A 1181 2 8+3 8—3
B -1 3] 2] - 20 20

= 0,55 =0,25

12 | A 2 | - | - 8 8+6 8—6
B 2 1 - 6 20 20
=0,7 =0,1




107

13 | A 8 | 1 - 8+8 8—8
B 8 - - 20 20
=0,8 =0

14 | A 1 | - 6 6+6 6—6
B - - 6 20 20
=06 =0

15 | A 1 | 8 1 8+8 8—8
B - | 8 - 20 20
=0,8 =0

16 | A 8 | 1 1 8+7 8§—7
B 7|1 - 20 20
=0,75 =0,05

17 | A 1| 4 5 5+5 5—5
B - 1 5 20 20
=05 =0

18 | A 2 | 7 - 7+7 7—7
B - | 7 - 20 20
=07 =0

19 | A 5 | 2 3 5+5 5—5
B S | - - 20 20
=0,3 =0

20 | A 6 | 1 1 6+6 6—6
B 6 | 3 - 20 20
=06 =0




